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— AR ER N x (1 )=10sin(30 { —7/3) =Xk, Hdt PR, WA
CUREE T,
K. (a) SHHEERMAN; (b) Bxfi#, BXBEMBEAMEE; (c)t=
0 PR EIi R, EEBEFMERS (d)  =1.2fbaafefl,. EEMMEE,

B4, x=10sin(30 ¢t —n/3)=Xsin(ot— ) HE}

(a)FxRh
f =m/zn=~—231—?—=4.77 ¥
Ak
-1 _ 27 _
T = F =30 =0.21 %
(b )BKRMHR
xma.x=X=]-0 %ﬂe
BAREEH
Xoue =X =30 X 10=300 24/
5 ok 2 BE SR
X=X =302X10= 9 x10° 2}k /#H?
(e)IEt = 0B
x =105in<—-—g—>=—-8.66 =33
%=210X 30 cos(—%)=150 2%/ %
5é=-—10x3ozsin<——g—>=7.79><103%*/ﬁ’z
(d) £t =1.28n

x =1081n(36—- {ZL)= ~3.85 w3k

#=10%30cos(36—n/3)=—277 B&X/#
Re=—10%30%in(36—7/3)=23.47 X 10° ZX/#*
I REBE R x(t )=150cos(17 ¢ +x/2) EX/F, B IMI-2,

B4, x=150cos(17 ¢t +n/2)=0Xcos(ot+ ¢ ) ZER/F
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X = 02X =17X150=2.55x10° ZEX/F?
(c) #£1 =08

x =8.82sin(wt/2) ZEk
x=wXcos(n/2)= 0
¥=—o*Xsin(x/2)=—2.55X10° ZER/B*?
(d) Tt =1.2%R
x =8.82sin(20.4+ n/2)=0.18 ZEXk
x=150cos(20.4+ n/2)=—150 Z&EX/F
S%=—2.55x10%in(20.4 +n/2)=—51.9 L} /Fp*
1-4 MBEH EIRAE AR REZER, KR RN0ME. MBXM & E
F1002K /T2, SRIELALE A B R .

%.
& x =Xsin(ot— ¢ ), M
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BAH#EER

Xpax=®X =10°/(80m) =398 ZEX/F
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B
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HIRHEBER, H4085%,
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kM x(0)=1.0K/,
(a) REFXMT;
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X% = Acoswt -+ Bsinwf
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%= —100XcosPsin100 { —100XsinPpcosl00 #
(a) HWHBKRETE
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i
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Bk
X=10.8 =k
(b) HxHR
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B ME &
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(a) x(0.1)=—8.796F kM x (0.2)=10.762E8K
(b) x(0.1)=—8.796%KF x(0.1)=—621.5X/#
(c) %x(0.1)=—8.796ZE21F X(0.2)=—10.76 X 10*Zx/F*
(d) %(0.1)=4.0FEXH %(0.2)=—10.76 X 10*Zk/F*
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(a) HEMKH
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x(0.2)=10.762%k = 4cos20+ Bsin20=0.408.4+0.9128
R AR B R
A=4 EXk B=10 %Xk
4 x = Xcos(wt+ P ), W
: X=vV "4+B" =10.8 =¥k
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(b) e m&H
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%(0.1)=—621.5%2%/#=—100 4sin10 + 100 Bcos10
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I ARB A
A=4 K B=10 %}
B¥
x = Xcos(100¢ + ¢ )
B (a) PRRE, WA
X=10.8 =Xk ' Y =—68.2°
(c) BHEMEH
%(0.1)=—8.796 E}=—0.8394—0.544 B
%(0.2)=—10.76 X 10* ZX/F*= —10*A4c0s20— 10*Bsin20
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B=10 ZE¥}
BF
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= Xsin(ot+ &)
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.
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K
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2 \. 7 0 1 B E®
\. \\\
- 'n._y / ‘\V'
; %3 = 3sin(107t ~ x/4)

P1-11
1-12 —RA#iE meiﬁr
x = 5sin2wt+ 3 sindwf
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1-18 HEMENEI-12, MR
(a) x=5sin(2n¢+30°)+ 3sin(4xwt+60")
(b) x=5sin(2nf+90° )+ 3 sin(45t+180")
"
x-t EmE P 1-13 7,
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:T.s’ BHE ()

AN

x = 5sin(2nt +80°) + 3sin(4nf + 180°)

B P1-13
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. :
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@,

B MTFRSEE 0,/0,= 5y PR—HEL, FUREANL.

1-15 3R T3 e i & 30,

(a) x=23sin3 + + 5sin4 i
(b) x= Tcos*31
9. ‘
(a) x="73sin3 ¢ + 5sindt & x()=x(1)+x(1)Lx(t) WRABET,
mA ‘
x(t+1)=3sin3(t+ 1)+ 5sind({+7)
= 3 sin(3f+ 2wm)+ 5 sin(4t+ 2nn)

m 2R WF rHRAME, &m=3, 1=,

T=om, QR %x(1) ERWEFH, w(1) 5Kk KERF, T 5.(OBR 4 K
fah,

(b) x(t)=7cos*st=-=—(1 + oon6r) = ——+——cos6 ¢, BF Bl I TN

Br BA, 3v=2mm, 4t=2:rn, T =
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1-16  HEFHERED x,= X cosof fix,=Xcos(o+ €)1 2, {Be< o, mELE
RS, REFRERHE, |

.
WiERMES x, M, 2 FHhx, W




10

x( t)=2X coswi+X,cos( @+ &)¢
= X cos®t + X ,( coswicoset —sin wtsinet)
= (X, + X,coset)coswt— ( X,sinef)sinof
=X<X1+X&Sfi X,sinet

X coswt— -~ 5% sin®# )=Xcos(0)t+ 8)
Hrh

X =V (X, + X.coset)* + (X sinet)?

=V X7+ 2X  X,coset+ X2
B =t -1 XZSinE,t . =t -y ,§!X]_8j;___
& X,+ X,coset & (X,/X,)+coset
MR X,FX, W (X, —X)<XOK(X +X,)%, X =X, Wo<<X<<2X,, Bl

X=XV2V1 tooset=X, ‘/—2_1/1 +< 2cos2-§-—t - 1>=2chos~;‘

t

. & &
1 +coset '8

1+(2c032—%—t—1) 2
W e Lo, WHARMA, ¥ fi=—, WHERE (1-8) X,

17 B0 <t <LOBATASREBNEDEMR,
(a) x=>5e*sin(10nt+ n/4)

(b) x =5e*¥sin(10%i+ n/4) + Tsindxt
"

B=tg

(a) x=5e*sin(10nt+x/4) XRWBHMEMHRMEP1-17(a),

x=5e"*sin (10t -1t/4)

®H P1-17(@)

#mBe M (10xt +-5/4) +Tsinded

of : » : . 1.0 i)
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(b) x = 5esin <10 wt+ {I >+ 7sindnt ZRFIE B R EME P1-17(b ),
1-18 S TIEHERIEH A B,

(a) 1+jV3 (e)3/(V3—j)

(b) —2 (£) (V3 +7)(3+4))
(c) 3/(V3—=j) (g) (V'3—7)/(3—4j)
(d) 5§ (h) ((2§)*+3j+ 8)

5.
(a) 1 +j1/'§=2<——;—+f]/2—3)=2(c0s9 + jsing )=2¢ ii, 2R

P1-18,
(b) —2=—2+jo=2(cosd + jsinf)=2e" Im
]
(c) 3 - 3 - 3 e]% 2 gfg
- . N
V'8 —i 2e¢e % 2 !
" Re
. X
(d) 5i=0 +5j="5 (cos0 + jsinp) =5e 2 P1-18
' P
(e) 3/(V3—j)= b=t
(e 'To )

(£) (VT +5)(3 +4i)=x2e’ O )(56™), H% a =tg" s =0.025

B, /U

(‘/—3—"' i)(3 +4f) =10e }( 6 0.92) =106f1.4u

. X
-j— -
S3—j 2e 5 i(5oe) 2
=—2=~8 =
5 5

( g ) 3 __]‘4 = 5e-io.u eio.‘

(h) C(2))*+3j+8)=(—4+ 8+3j)=4 +3j=5e00

1-19 K—REE—FPEAREDAAFASENE 712 1, 2=2 sin(oot+ )
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